OO000O0esO0O0D0OD0OO@DbO22090)

0-499
) o
1.
1)
2 FEM
2.
3 midas GTS
1
1
2)
1
v E
(kN/_ 3 (kN/m?)
Mohr-Coulomb 13142.05 5600
Mohr-Coulomb 19 4000
? Casel c(kN/m?) =) ®
180.1kPa(100cc ) E 5 =
20kPa 40kPa 0.3 9 2
1
——  -0kPa —0—  -111.9kPa
Mohr-Coulomb —— -180.1kPa --- -0kPa
. -- - -111.9kPa --- -180.1kPa
@ 200
3) .
=150
3. 2
1
2 ) Casel 00
OkPa  111.9kPa 180.1kPa 50
0
5 10 15 20
(cm)
FEM
2

TEL03-5707-2202

-997-



0-499
3
(b) oy (¢)
40kPa
Op O
4
180kPa
4.
(1
(2) o o©q o,
3) 7cm
< >
1
2)
3)

O,

OkPa

7cm

100kPa
120kPa

150kPa

OO000O0esO0O0D0OD0OO@DbO22090)

(@ Or

111.9kPa 180.1kPa 160kPa 140kPa

Gy

Casel

O,

Or

Or

6, Oy O,

2)

FEM

FEM

45

-998-

200 -~ 0kPa
—=—111.9kPa
150 180.1kPa
E -o—160kPa
< i 140kPa
100 N -=X-40kPa
Sl = SIS
o
0 ‘ ‘ |
5 10 15 20
(cm)
(a) O,
200 ~—0kPa
——111.9kPa
_ | 180.1kPa
3 150 ~0—160kPa
2 | 140kPa
100 N =X-40kPa
Xae
0 ‘ ‘ |
5 10 15 20
(cm)
() Oe
-~ 0kPa
200 ——111.9kPa
180.1kPa
- 150 -o—160kPa
g 140kPa
= 100 X =X= 40kF’a
\X\
S©=XEX=X=X;XEX
50 |- R
0
5 10 15 20
(cm)
© O
3
200
- ~or
g oz A/
X
= 100 | ~

40

0 50 100 150 200
(kPa)
4 cm
60 p.p.551-552  2006.9
( )2010.8

pp.1085-1086 2005.7



